2 788 AB = AC, /A = 36°, BC = 5cm
Q1 o] 5H4I71E ABC olth. /B 9] o] 5E 4o
AC o it 92 D 2t & 1, cos72° o] &
o9

oz

o \/55—1 ® \/55—2 ® \/54—1
V5 -2 V5 -3
@ 4 ® 4

>



cos? A — cos? (90° — A)

"1+ 2cosAxcos(90°—A)

® @

A~ —



3.

oh& I ollA 10(sin A + cos A) 9] FH27?

@D 14 ® 16 3 17 @ 18



o2 13} Zo] 3 BA 2 o] Ao]7t 4 <l
JAFHA] A - BCD °[l4 BC 9] S8 E 2
S5}AF. /AED = x & W, cosx 9 ZH2?

©)
)

1 2
@31 ®?
© %

O LN | —




o5 19y Zo] ¥tA]&2] Zo]7t 6em ¢ A
0 o YH5H= AABC o4 BC = 8cm &
o], cosA X sinA x tan A 2] ZF-&?

@®

@

)
®

1
® 3

W~
O | W



\/(cosA —sinA)? + \/(simA+cosA)2 = V2 4 o, tanA ©] F2?
(HF, 0°<A<45°)

@D 242 @ 2 B® V3 @ 1 ® 0



